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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 80 will be settled based on
the Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statement is/are correct about Draupadi Murmu, the Honourable

President of India ?

i. Was the first woman Governor of Jharkhand.

ii. Was elected as the Councillor of Rairangpur Nagar Panchayath.
iii. Was the Minister of State with independent charge for Commerce and Transport.
A) Onlyiandii B) Only i and iii

C) Only ii and iii D) All the above i, ii and iii
2. Who was the main leader of Keezhariyur Bomb Case which was associated with
Quit India Movement in Malabar ?
A) Dr. K. B. Menon
B) K. Kelappan

C) Muhammad Abdur Rahiman
D) K. Kumar

3. Who opined that ‘nothing, except the annihilation of caste system, can emancipate
the oppressed caste people’ ?

A) Mahatma Gandhi

B) Ambedkar

C) Raja Ram Mohan Roy
D) Vivekananda

4. Which historical event resulted in the deposition of James Il and the accession of
his daughter Mary Il and her husband, William Il ?

A) French Revolutions
B) English Civil War

C) Russian Revolution
D) Glorious Revolution

5. “Rationalism is not a religion. It is an attitude to accept knowledge based upon

reason.” Whose words are these ?
A) Sree Narayana Guru

B) Poikayil Yohannan

C) Sahodaran Ayyappan

D) Chattampi Swamikal
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1. @Qu@wmaller i gem@uPwmer HOgarLi®) wpipeneurs Lipplws L9eTe(HLD
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4. e1ps augevnpm Hlaspa Gebev I Lgal aflewGwg wHmib eugs wxer Guo I
wonith Yeugg sewreui allevedlwib Il & Cumhesr Caisenad@ auflo)$ss5 ?
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D) g1 1b19 &eumbseir
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6. Match List — | with List — Il and select the correct answer by using codes given below.

List -1 List -1l

a. Jayaprakash Narayanan 1. Netaji
b. S.C. Bose 2. Loknayak
c. B.G. Tilak 3. Lion of Punjab
d. Lala Lajpat Rai 4. Lokamanya
Codes :

a b c d
A) 2 3 4 1
B) 3 2 1 4
C) 2 3 1 4
D) 2 1 4 3

7. Who introduced the concept of Neo-determinism ?

A) Ratzel B) Ellen C. Semple
C) Griffian Taylor D) Vidal de la Blache

8. Which one of the following is a source of information helped to understand the
structure of the interior of the earth ?

A) Primary wave
B) Secondary wave
C) Surface wave
D) Love wave

9. Which ocean currents flow in the western coast of South Africa ?
A) Auglhas currents
B) Humbolt currents
C) Canaries currents
D) Benguela currents

10. 10 degree channel separate group of island in two group.
A) Andaman and Nicobar
B) Maldweep Island
C) Gulf of Mannar

D) Sri Lanka

11. Name the place where the Alaknanda and the Bhagirathi rivers meet.
A) Rudra Prayag B) Deva Prayag
C) Haridwar D) Alahabad
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v guwev—| g L igwed—Il o216t QLmpsS), BCLp ClsnRdsLiLL (HeTar Gpluihseent
LweTL® S Fflwner LFeevd Csih0)% B EHa L.

u quev — 1| ugued — Il

a. Glwigsray BIImLIGwTes 1. Crzrg)

b. S.C. Gumaev 2. Covngpmus

c. B.G. favd 3. uEpFTLIeT FBI%HLD
d. evrevr evgLIG) gl 4. GevndLomesttm
Codes

a b c d

A 2 3 4 1

B) 3 2 1 4

C) 2 3 1 4

D) 2 1 4 3
BCwm 19 _iflellFib 61651 HhGewS P (LpSLILIBGSH waeui wmi 9
A) gm’gged B) ereveir C. Qgibieir
C) @iosLietr O uievrir D) afleb 19 e L1Gard

esraupeuasouppled 618 Lyblullesr o 1" LpsPer s L ewiwlieouls Lfbg Gl&merer
2 gailw SHaIHGNGT YFTILD ?

A) wsetenin emev

B) @uewr_mib Blencv yemev

C) Guopugliy oemev

D) ever oemev

OserermiiliNssnaler Com@ sLpseguileh 61hs sL_6v FECITL L BIS6T LTUISTDGT ?
A) gevapmeav HCrTL L BI1%S6T

B) GammbCumevm’ HCGym 1 miseir

C) Gsewfav HCym’ L_migeir

D) Qusiger ECrmL L miger

10 &M Ggesred 5o @upeeu Que(®) Gpauns LNMEEma 2
A) bsLomest ommih &G
B) wresgay

C) westewrmi euewar@HLm

D) @aeriens

WVSBHST LOHYILD LITETS BH&6T FhBSGLD QL sHewr ClLiwi ?
A) wsr KGowns B) Gseu gwins
C) awiseumi D) wewsmuns
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12. Temperate grassland prairies locates in which continent ?

13.

14.

15.

16.

17.

A) South America B) Europe

C) North America D) Africa

The term input tax credit is associated with

A) Value Added Tax B) Goods and Service Tax
C) Income Tax D) Corporate Tax

In India, price of rice is influenced by (1) Consumer subsidy (2) Minimum Support
Price (3) Trading by Private Parties.

Select the correct answer :
A) 1,2and 3 B) 1and 3 C) 2and 3 D) 1and 2

“To create a knowledge, innovation and entrepreneurial support system through a
collaborative community of national and international experts, practioners and other
partners.” This is the objective of

A) Earn While You Learn Scheme
B) NITI Aayog

C) Skill India

D) Planning Commission

“Faster, More Inclusive and Sustainable Growth” was the watchword of
A) 11" Five Year Plan

B) 12" Five Year Plan

C) 13" Five Year Plan

D) None of these

Consider the following statements :

1.

Direct taxes in India are overseen by the Central Board of Direct Taxes and Indirect
Taxes by the Central Board of Indirect Tax and Customs.

. Direct taxes in India are overseen by the Board of Direct Taxes and Indirect Taxes

by the Central Board of Indirect Tax.

. Direct Taxes in India are overseen by the Central Board of Indirect Taxes and Indirect

Taxes by the Central Board of Direct Tax and Customs.

. Direct taxes in India are overseen by the Central Board of Direct Taxes and Indirect

Taxes by the Central Board of Indirect Tax and Excise.

Select the correct answer :
A) 1 only B) 2and 3
C) 1and 3 D) None of these

-6-
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A) 1 o b B) 2 wpmib 3
C) 1 wpmib 3 D) @eeu e1g1ab @evenev
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18. “l know only one culture, that is agriculture” is the statement of
A) Bankim Chandra Chatteriji B) Jawaharlal Nehru
C) Sardhar Vallabhbhai Patel D) Lal Bahadhur Shasthri

19. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. A Minister who is not the member of legislature for a consecutive period of six months
shall cease to be a Minister after the expiry of that period.
b. The Advocate General of the State shall be qualified to be appointed as the judge
of the High Court.
c. A bill pending on parliament will lapse on the prorogation of the house.
d. A bill pending in Rajya Sabha which has not been passed by the Lok Sabha will
lapse on dissolution of the house.
A) All the statements are correct
B) Statements (a), (c) and (b) only
C) Statements (a), (d) and (b) only
D) Statements (a) and (b) only

20. Which of the following deals with the power of Supreme Court to grant special leave
to appeal ?
A) Article 136 B) Article 131 C) Article 133 D) Article 132

21. Doctrine of Repugnancy is related to
A) Relation between fundamental rights and directive principles
B) Inconsistency between State law and Central law
C) Immunity from taxation
D) Acquisition of property

22. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. A single person can be treated as a class for the purpose of legislation.
b. State shall provide free and compulsory education to all children between the ages
of 6 to 15 years.
c. Art. 31 of the Constitution was omitted by the 42" Amendment.
d. Equal justice and free legal aid was inserted to Part IV of the Constitution by the

42" amendment.
A) All the statements are correct
B) Statements (a), (d) and (b) only
C) Only statements (a) and (d)
D) Statements (b), (c) and (d) only



18.

122/22 - T

“eren1%& RO R(h HevFFISTHT CFALb, ST GNFOFFT GTGILIGI HTGH

A) UBISb FBF T FLL 7)) B) @euaniemred Gmp
C) gismi aucvevimit LIGL 6v D) ewmev Lisgni e

19. Wereu@pd ymldemasseamar (a) wpsed (d) euenr L@Liumiey GFdig, A, B, C, D

20.

21.

22.

oA Liumisefedmpg Filwnet LS eaevd F6TL_pHlwaLb.

a. QsILiibg UM LOTSBISEHSE FL L LOGID 2 piIergns Qe (b HeLDFFT,
9IbFd SMLD (LpLyeIenl_bSLIDE, YLFFITS @Q)BLILI®S BIMISSLILIGeTT.

b. wrblevsGesr 9 auGsL Glegestre o wit EH Lo IDSF et HBLIBWTS HdESLILIRMSH S
SGHBWedL_war.

C. UMITEFLLGTDSFH6V Blayiemeuuiley 2 6irar e LoCFTSHT, FeaoLIOW Gd%Heald@LbGLing)
STVTUSWTH I (BH)Lb.

d. CevrgFLmeuney 9yBISEMESLILIL 1% prwFLITaleD Bleyienaiuiley 2 eiar LoCFIHT, e
FEVGHLILIL L_QL_GST HTeVTeUS TG LD.

A) oS3 WEEHHGEHLD FHTCTEDG

B) wses (a), (C) opmid (b) or” BCio

C) wmlses (a), (d) wpmib (b) - BHCGw

D) wmlsens (a) opmib (b) o BHCLo

Lesreupeuateuppled 618 Gocvpempui®) OFuin FpLiLy HeiD) cupBI% o FF
BBLOGBTDSS G 9B FMTSHS FWTHTH DS
A) 9fey 136 B) 9fey 131 C) L9Mey 133 D) 9fey 132

wpiLiyé Carl un® OSmL_iLjeoL_wg

A) 9y litenL o Mewioser HHILD SL L oars ClE6TanEs@hsE @)L ueVTesT 2 pay
B) wrhlev #1 L $FD@HLD wSPw FL 1L GHHGLD QenL_uied (LpTesTLIT(h)

C) auMalD 196 Bhs IS ALIL] F55)

D) Qe ewawsLiL(hdse

ereuapLd Mlsenssar (a) wpse (d) euenr LgLiumiey GFdig, A, B, C, D
L1 el Gumev epevid Filwirest LG enevd HevsTi_PlayLb.
a. s L $Betr CrrdsSFnasns @b Sl LT (5 UGLILITGES F(BSGITLD.
b. 6 wpsev 15 auwg) auengullevrest HYenesisdl GHLHMSHEHHEGLD (Q)eVeuF LoPMILD HL L miLid
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23. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.
a. Promotion of international peace and security is one of the fundamental duties of an
Indian citizen.
b. Writ jurisdiction of High Court and that of Supreme Court are not equal in its scope.
c. The President can be impeached for proved misbehavior and incapacity.
d. Pardoning power of the President and pardoning power of Governor are not equal
in its scope.
A) Only statements (b) and (d) are true
B) Statements (a), (b) and (d) are true
C) All the statements are correct
D) Only statements (d), (b), (c) is correct

24. Analyse the following statements (a) to (d) and find out the correct answer from the
options A, B, C, D.

a. The Chief Election Commissioner shall not be removed from his office except on the
like grounds that of a judge of Supreme Court.

b. The Public Service Commission has no role on the disciplinary proceedings against
Civil Servants.

c. A civil servant can be dismissed from his service only by the appointing authority.

d. The National Commission for Scheduled Castes and Scheduled Tribes has the power
to enquire into the cases of deprivation of the rights.

A) Statements (a) and (d) are true

B) Statements (a), (b) and (d) are true

C) Only statements (b) and (d) are true

D) All the statements are correct

25. Analyse the following statements (a) to (d) and find out the correct answer from the

options A, B, C, D.

a. 53 Amendment of the Constitution — Anti defection law

b. Eighth Schedule of the Constitution — Languages

c. 101® Amendment of the Constitution — Article 246 A

d. Local Self-government — 73 Amendment of the Constitution

A) Only statement (a), (d) and (c) are true

B) Statements (c), (b) and (d) are true

C) Only statements (c) and (d) are true

D) None of the above

26. The Constitutional remedy available to protect a citizen from illegal detention
A) Mandamus B) Prohibition C) Certiorari D) Habeas Corpus

A 10-
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27. Who is the current speaker of Lok Sabha ?
A) M.A. Ayyangar
B) C.N. Annadurai
C) O.M. Birla
D) Abhilash Banerjee

28. Which one of the following services not included in Schedule | of the Kerala Civil
Services (Classification, Control and Appeal) Rules, 1960 ?
A) The Kerala Agricultural Services
B) The Kerala Animal Husbandry Service
C) The Kerala Last Grade Service
D) The Kerala Architectural Service

29. Which among the followings come under Category-2 of geologically related disasters
under the Disaster Management Policy 2010, Government of Kerala ?

A) Tsunami B) Flood C) Lightning D) Cyclone

30. Which of the following statements is/are correct about Prathyasha Scheme of Social
Security Mission in Kerala ?
i. The Prathyasha Scheme is to help economically poor parents in getting their daughters
married.
ii. The eligibility criteria for beneficiaries of the Prathyasha Scheme should be above
22 years.
iii. The annual family income of the applicant should be below Rs. 75,000.
A) Onlyiandii
B) Only i and iii
C) Only ii and iii
D) All of the above i, ii and iii

31. Which of the following statement is not correct about the State Commission for the

Protections of the Children’s Rights ?

A) The Chairperson of the State Commission for the Protection of Children’s Rights
shall be appointed by the Chief Minister and Council of Ministers

B) The Chairperson and every member of the Commission shall hold office for the term
of three years from the date on which he assumes office

C) The State Commission for the Protection of Children’s Rights shall consist one
Chairperson and six members

D) The Secretary of the Commission shall be responsible for the proper administration

of the affairs of the State Commission and its day-to-day management
A -12-
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B) Gsper smevpenr_ Ligmofiiy GCeemeu

C) Gspor sevL_& s5 Caeneu

D) Gsger s 191 _sseev CFeval

Gsger pfest Gt Gevresseniod Glsmerens 2010 61 Gip, yalluwed C)FmL_riLimest

Cuif_rsefler L9Mey-2 618 2

A) sestih B) QumOeusrers C) Lhesresey D) @wwmeuaf

Gagermalled FeLpsls LGSl Lessludest Ligdwmaum S L_dengls Lpp) L9656 HLD

61bS YMWSHNEHGT FIWITS 2 GTeTSH].

. Ogdwnepm 1 b er6s1gy QLn@pertsmisFev eaentp ClLmCpriser Fuiger
LD&GITS @h @ F(HLoewiLd ClFUIG] ®aIss 2 FajalFTELb.
ii. Gogwmapr L L SFeT LiwesTTafNS @S5 T6 F&F ara)Casmed 22 auwigidb@ GLoed

@55 Couet(pLb.

iii. alewrentiiLisTIMeT &HBILbL Yewr(R aupomeTib RS. 75,000 4@ Geopeairs @)@pdhs
Geouaim(Hib.

A) i wpmib i oL Bb

B) i opmyb iii or” B)ib

C) ii opmyih i or” Bib

D) GwGev 2 siter yewesidgiLb i, i, iii

GBS 2 MeEF®ETL LITHSTLLSDSTRT DB peewTisendLll LHmlw

L96sT0UHLD WSS 618 FMNUTEISH D6V ?

A) GLpbeSH6T 2 MenLDEHET LIMGIBTLILISHTGT LDTBG) YeHERTIISHGH SEOGVUIT (LPSHGVGHLDFFT
LODMILD YO LDFFTHGT (& (Lpeumed BuILhlSHLILIGeumT

B) <ementig®esr seneveut Lopmitb eeiGleums 2 pyii et pid Syeurt Lsall ep @b CaHufled
QGBS Tl ETBSET LSaNND @)BLiLI

C) Grhoss6r 2 Mepws@arts LMHSTLLSHETT LOABGY YeHeRTWLD G(h ST
wHmitb mi 2 mirieriseard OsmeuLy (hd @ LD

D) wmblev gy ewentiidG et alleusmaBISer LoHILD ST HYSTDTL_ [BT6uTHd BT (LpeODILITEST
Blieunss@m s sblapesiler ClFwevmeri OLimmliLy erpLimt
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32. Which one of the following is not the impermissible delegation ?
A) Commencement

B) Exemption
C) Modification
D) Repeal of law

33. Which of the following statement is not correct about objectives of Kerala State
Literacy Mission Authority ?

A) Retention of literacy skills and provision of opportunities to the neo-literates to take
their learning beyond basic literacy

B) Ensuring the sustainability of the Kerala model

C) Creating scope for application of functional literacy forimprovement of living conditions
and quality of life

D) Ensure primary-level education to the whole of Kerala

34. Vitamins and their corresponding deficiency diseases are given below. Choose the
incorrect one.

A) Calciferol - Rickets

B) Tocopherol - Pellagra

C) Retinol - Night blindness
D) Ascorbic acid - Scurvy

35. The International Day for Disaster Reduction celebrates every year on

A) 24 December B) 14 August C) 13 October D) 28 November

36. Which of the following diseases is not a target under The National Vector Borne
Diseases Control Programme ?
A) Malaria

C) Dengue fever

B) Kala-azar
D) Cutaneous Leishmaniasis

37. Choose the correct one from the four options to the given statements.
Statement | : Type 2 diabetes is an endocrine disease involving pancreas.

Statement Il : Type 2 diabetes once diagnosed patient is always started on insulin
therapy.

A) Both statements are wrong

B) Statement | is right, but statement Il is wrong
C) Both statements are right

D) Statement | is wrong, but statement Il is right

-14-
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32. eireupeussteupBled 6181 HeWILoSHSHLILIL TH LT BB SSH LD Hebev ?

A) <ygibLith B) aflevds
C) wmpwib D) #' L w5 158 GlFuigev

33. Gsger wmplev e1(pdsley Liewtl yenewtisHer Crrdbssisanart Lpm) LeTalbLb 6Ths

34.

35.

36.

37.

QWG®S FWLTETSH evev ?

A) awpsspla) Bpatsmans sssmaisse LHDILD UBW e1pSsphla Cluppaisr
9y LI sevalwmleyd@ LILIT FmIG6T SPDeev OlHTeui(R) O)F6)euBnHSHT6T
QUITUILIL|HEDGT GULDMAI %SGV

B) Gspar won@Muier Hlevevdgestenoemw Bleoew Bl (60

C) aumpdens Blenevenioser LoHMILD UTLPSH®ES Sidews GLoLbLI(HSSI6USBHST6T
QewevLm (B sevalwmleners LIWGTLBSSHIUSDHTGT UTLILIGHLI 2 (h6TdHhES6e0

D) Gager wppeugib yuibr Hlevevd sevaleow 2 pi% ClFuise)

UL’ L LAGIHGT LoHmith eupdmiL_es1 ClFm_iyeni_w Gevpur®k Crmit EGLp
QsrBSSLILL (BHeiTars). SeupnaT getans Csin0)%(H)BI%er

A) 5160F)o%06)LIgTe» - M50sL av

B) GrL_nGsml)uGrmev — Quevevrsgm

C) QL 19 Cerrad - Quey GBL BHSS6TeLD

D) wevsmilis gblewtb — evsiad)

CuLfley Siionesisis @pdstet FieuCss HeviLd @ei0leunh 2468 (hLb 9YGTM)Y
Qs messt_m_L1LBG@nG.

A) wyaibuir 24 B) w@yseav 14 C) 946G muir13 D) meubLii 28

GsPw GleusL_mi epevitb Ligeyd Cpmilser sLU_RLILTE (B S L SGFer Grp LIereu(pLd
e165 Gpml QewssTs (Qevenew ?

A) wGevMluim B) sevm-oyami

C) QLmE smidsesd D) Gsrev eSayGrocilwimGav
CETRSSLILIL L. YPEmSEEhEG BI6TE allBLiLBisalelbhg Flwmes @etemns
Ca/ih0)% (S ayLb.

osens | @ Fifla) cuens 2 ereiiLig seventwid FbLBSLILL L 6@, BraTOeOeT
Crmumr@Lb.

msens Il @ Fifley euens 2 Crmut sest_plwiii’ ey e, Crmumael e11GLITG LD
Q) eirmadlelr AFFemFawd CFmL_mIGH D

A) @uet(h 9PldeEHHE@FLD F6DTCSIEn6U

B) wiflsens | &M, gemmed oypldbens | saimy

C) Quewi(h) oypldenssanid Filwmesiene

D) wpldems | saim, gy earmed gphlsans Il Fi
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38.

39.

40.

41,

42.

43.

44,

45.

Which of the following statements are true ?
i. Heart starts beating and heart beats can be heard just after birth.
ii. Normal human heart rate is 60 — 100 beats/minute.
iii. Heart beat rate decreases on exercise.
iv. Emotional and physical health are more important for maintaining a healthy heart.
A) Onlyii and iv B) Onlyiiiandiv C) Onlyiandiv D) Only ii and iii

A sphere weighs 300 N on the surface of the earth. If it falls a distance of 1/3 down
the centre of the earth’s, then its weight will be about

A) 900 N B) 200 N C) 300N D) 100 N

If there is a sudden fall in the barometric reading, then we can expect
A) Snow fall B) Rain C) Storm D) Heat

A 1 m string is divided into 3 segments of 25 cm, 35 cm and 40 cm. The fundamental
frequencies of the three segments are 280 Hz, 140 Hz and 70 Hz. Then the original
frequency of the 1 m string will be

A) 140 Hz B) 70 Hz C) 60 Hz D) 40 Hz

On 11" June 2019, Space Co-operation of India signed MoU with which country ?
A) Tunisia B) Bangladesh C) Lithuania D) Luxembourg

The relative basic character of the following conjugate bases follows the order
A) CIO, < CIO™ < CIO; < CIO; B) CIO" < CIO, < CIO, < CIO:1
C) CIO; < CIO; < CIO; < ClIO” D) CIO < CIO; < CIOZ < CIOZ‘
Which of the following properties are true about a mixture ?

i. A mixture shows the properties of its constituents present in it.

ii. The composition of a mixture is fixed and it possess a definite formula.
iii. Elements or compounds just mix together to form a mixture and new compounds

are formed.
iv. Composition of a mixture is not absolutely same throughout.
A) iandii are correct B) iand iv are correct
C) ii and iii are correct D) i, ii, iii and iv are correct

Reserpine, Quinine, Nicotine and Piperine are examples of the following classes of
alkaloids

A) Indole, Quinoline, Pyridine and Piperidine

B) Quinoline, Piperidine, Pyridine, Indole

C) Indole, Quinoline, Pyridine, Isoquinoline

D) Quinoline, Piperidine, Indole, Pyridine
-16-
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Lﬂm«m@m FnDMISNGY 615 Fiil 9
. s 21 CerGuw @Qsws 19 L1L] TibL9%@GHLIb HMILD @)SWid S L1L|FH6T

G s11L1(p)1b.

ii. Fnsmgent wesfls Qswsd Fgriy Bl n@ 60 — 100 g9 $Fna).

iii. oL puuilnFuiesr Cung @Qswsd FigLi GHDH DS

V. 2 ewridd) opmib o 1 6v HCorsGwiib @ueT(hib @Fwdbens 24 CrTsSHwiLomeT
@ULILSGV LOSOLD (LpSFNILDTCHS).

A) i opmib IV oL BLb B) il opmyib iv o (Hib

C) i opmyib iv o Gb D) ii opmyb iii or” B)ib

yhufesr Copugiifed g Camars@er erewr 300 N. Lyilufler ewiows&edmpba 1/3

L@ G GG all(Lpbsmed, BT 6Tenl_ FHLDMIT

A) 900 N B) 200 N C) 300N D) 100 N

unGurQ M eur@Lifed Ger afpdd apLL L m6), B @) IPTLITiGSEMLD
A) vefliCumyey B) weoip C) ywev D) QeuriLib

1 m ggib (string) 25 cm, 35 cm wpmib 40 cm ereor 3 Lfleysarts LINGSLILIL (BH6Tens).
epadtmy L9Meyaseflesr g LiLieoL_ 9@iGleueraer 280 Hz, 140 Hz opmyid 70 Hz gy @1b.
etasled 1 M FugFetr 9Feb G T0levassT 6TadTTRITS ()55 GLD.

A) 140 Hz B) 70 Hz C) 60 Hz D) 40 Hz

a9er 11, 2019 yeirny, @BFwm evGuev Car- L 1Grauet 9yo%Lt @B WIT eFair
MoU 6158 prBL_ctt Lflbgienticy @LiLbsLb ClFdig 6% mesTL_g)
A) gie@wir B) aumsmerGsaib C) oSgCoustlwim D) «w&GlevibLimis

L9esTeuBLd Q)ewenThd 2Lg LILIeHL_Hailes QST LjenL W 91 LILIGHL SGTEOLD cuflenFaiiLs
LISTLID B DS

A) CIO; <ClO < C|O; < CIO:1 B) CIO < CIOZ_ < CIO; < CIO:1

C) CIO_ < CIO_ < CIO_ < CIO” D) CIO < CIO; < CIO:1 < CIOZ_

Fevenalewll Lpmlw L96TapLD LIGRTL|Seley 61g) FM 2
I. @@ SVeeu YFGL 2 GITAT BT FnmIFfGH LIGHTL|S 6T HTL_(HhE DS
ii. @@ seve»auieT e HleweviTes LODMILD Fl @5 LIl L LDTeT FSS IS5
OlsmessT(R i)
iil. sefloBIser Yevevg) CFILDBISET QRGIDIS HeVBEHI G(h FAGHGUW 2 (6T F 6T D6
LoPWILD LB ST 2 (156U TH G GIT.
iV. seveneuuilel Hevemal (Lp(peusitb @Gr LrGMiins Q) HdbHs.
A) i wpmb i o BHCo Fif B) i wpmib iv o ®Cwo &if)
C) ii wpmyb iii " BHCro &if D) i, ii, iii topmyib iV o HCo &if)
MaieoLiecst, @uilestles, FGCHmMg 6T Pmib ewtiLifer gy &wene LeTalbLD s
2,VHTUI(HSEH% S 61(HSSHISHTL(HSH6T
A) @erGLmev, GuiCarmedles, enLifig et opmib eLi16)Lifig 6t
B) @uiGastmedesr, ewuiiQuifiger, eniifigesr, @)erGLmed
C) @G mmev, @uilGesrmadlesr, emiifigesr, g9CFma@ullGestmed)esr
D) @uiGermeSler, eniiiGlifigesr, @erGL_med, ewiifligesr
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46.

47.

48.

49.

50.

51.

52.

53.

54.

Misch metal is an alloy of

A) 5% lanthanides, 95% iron and traces of S, C, Ca, Al

B) 95% actinides, 5% iron and traces of S, C, Ca, Al

C) 95% transition metals, 10% Al and traces of S, C, Ca, Zn
D) 95% lanthanides, 5% iron and traces of S, C, Ca, Al

Who among the following is not associated with Circus in Kerala ?
A) Keeleri Kunhikkannan B) Miss Yasoda
C) Poovandan Kunhambu D) C.V. Narayanan Nair

The Indian Hockey men’s team won gold medal in the Amsterdam Olympics of 1928.
Which among the following statement is/are correct about the performance of the
Indian team in that Olympics ?

i. The team scored 29 goals without reply in 7 matches.
ii. The hockey wizard Dhyan Chand scored 14 goals.
iii. In the final match India defeated Netherlands.
iv. In Olympics, it was the first Indian medal for hockey.

A) Onlyiandii B) Only ii, iii and iv

C) Onlyiiand iv D) Only iii and iv

The author of Vyazhavattasmaranakal

A) B. Kalyani Amma B) P.K. Narayana Pillai

C) E.V. Krishna Pillai D) Kunnath Janardhana Menon

The Maramon Convention is held in the district of
A) Kollam B) Kottayam C) Pathanamthitta D) Ernakulam

The number of illiterate persons in a country decreased from 15 million to 50 lakhs

in 8 years. What is the percentage of decrease ?
1 1 2
33— 66— 66— D
A) 3 B) 3 C) 3 ) 30

If the compound interest on a certain sum for two years at 5% p.a. is Rs. 2,050. The
simple interest on it at the same rate for two years will be

A) Rs. 2,000 B) Rs. 1,950 C) Rs. 2,050 D) Rs. 1,000

A 200 m long train crosses a 320 m long platform in 13 sec. How much time will it
take to cross a platform of 160 m ?

A) 6.5 sec B) 8 sec C) 10 sec D) 9 sec

If 7°73x 578 = 1225, then x =
A) 5 B) 2 C) 3 D) 4
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ey GloL’ L 6) @)®eUSET SWHS QR(Ih SV GUIITGLD

A) 5% enpgamat®ser, 95% @by wpmidb S, C, Ca, Al @)6r sL_wiBiser
B) 95% sy emarhser, 5% @by womib S, C, Ca, Al @6t s1L_wkiser
C) 95% wappib 2 Cevnssizser, 10% Al wpmib S, C, Ca, Zn Q)er HL_wiBiser
D) 95% empsewe(hser, 5% @) pibry wpmith S, C, Ca, Al @)eir $L_wisiser

Lesraumeuaraupmled wimi Cagarmailed FigsevdL et O)FmL_iijLi_alevency 2
A) &Cevil @ ciTauls s evsessTe B) wev wGsngm

C) weuewsi_eiT G esTavtmLbLy D) C.V. prgmwesstesr mmwii

1928 g ib gy a(h) ybewr i _mb @eSlblsGed @QBSHW aDTSEE 2 @THET 96wt
SBISLI LFEHLD Oeuating). bs @edlbLisFed @)bFw yenfluler ClFwebLIT® GHnlds
LIGTUHLD FnDMISNGD 618 FMWITesg ?

I. 9Bs 96wl 7 Cumrigsafled 61% L1960 29 CHrevsemar 9Ly s5.

ii. anns® a9%ss1 Swnet Fhdg 14 CHTevE6T 19SS

iii. @& Cumguied @QBFwT CBsicvTbews CHTHHLY S5

iV. @ailbL$Hed, apnsFssret (P QBSHw Gl b @)gieurELb.

A) i wpmib i o Bb B) i, iii topmyib iV oL” b

C) i opmyb iV or” BLb D) iii opmyh iV oL” (B)ib
QIwmpaIL L TevevLoTeRTHcy Q& Mt

A) B. sevwmewtl wjibiom B) P.K. prgmwewsr (Derenar

C) E.V. S payewr erenar D) @eirens sesimigsest GLossresr

LorgLoest Ak @Qbs meul L e penl_OLpSng)
A) Gsrevevid B) Gamr_wib C) ussenb& Lm D) erewtrgaentd

@B B 1960 L LiBleuppeuisefle ecrewreniidans 8 gy arhsaisy 15 LhleveSlwefled
@551 50 L Fions GepiEIeTaS. GHDaileT FSaiFLb eT6iTeT ?
1 1 2

A) 33— B) 66— 66— D

) 33, ) 66 C) 66 ) 30
au@pL eu”1g (compound interest) 5% afsLb, @Q)Tewwt(R) 2T (H%H@F%@H R(H GDILILN 1L
Osrensuilest oL () a1y RS. 2,050 s @)hS50S5. QIR 2, (h%6ehsE 2G5
a9$SF 0 95 etaflw eul’guwins (Simple interest) @ wpsred, ereicueray Glgmens
Q) BESG1b
A) 2,000 B) 1,950 C) 2,050 D) 1,000

200 m ferperer guled 320 m Harperer Nerr Lmggensg 13 Qprysafilech SL_SHDS).
160 m ern Limgdens &L_d% eraieuerey GBI Y @&HLb ?

A) 6.5 sec B) 8 sec C) 10 sec D) 9 sec
7" %% 5%7% = 1225, areviped X = ?
A) 5 B) 2 C) 3 D) 4
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55.

56.

57.

58.

59.

60.

61.

62.

How many terms of 2, 10, 18, .. ., .. ., . . . must be taken to give a sum 552 ?
A) 10 B) 12 C) 14 D) 16
Find the alternative which will replace the question mark :

FULL: EXGS :: TIER : ?

A) UFJK B) uLQY C) SFzK D) SLzY

If Thursday falls on 20" September 1984, what day will be on 20" September 1992 ?
A) Sunday B) Monday

C) Tuesday D) Wednesday

X, Y and Z are sisters, W is the brother of V and V is the daughter of Y. How is X
related to W ?

A) Cousin B) Aunt C) Sister D) Niece

Anu walked 30 m towards north. Then she turned right and walks 40 m. Then she
turns right and walks 55 m. Then she turns left and walks 25 m. Finally she turns left
and walks 25 m. In which direction and how many metres is she from the starting
position ?

A) At starting point B) 65 m West

C) 55 m East D) 65 m East

If the reflection in a mirror of a 12 hours clock shows 1:45, what will be the original
time ?
A) 9:10 B) 10:15 C) 10:45 D) 9:45

Who are the Abkari Inspectors among the following officers in Excise Department ?
I. Excise Inspectors
Il. Assistant Excise Inspectors
lll. Circle Inspectors of Excise
IV. Preventive Officers
A) Only | B) Only I and Il C) Only I, Iland Il D) All of the above

Pick out the incorrect statement.

A) Excise Inspector is an officer appointed for performing the duties under Section 40 to 53
of the Abkari Act

B) Excise Inspector can only register Abkari crimes in Excise Range office
C) Excise Inspector can grant bail in bailable offences
D) Excise Inspector has the power to investigate an Abkari offence

-20-
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Il (HOFTemE 552 @ aupris 2,10,18,...,..., ... Q6 eI (LD /SL_cHal
6135 Couesst(Lb 2
A) 10 B) 12 C) 14 D) 16

Gaeralld@plenw wapPliueod@GLd oaPPL el & FeTL_PliiaLb.
FULL : EXGS :: TIER : ?
A) UFJK B) uLQY C) SFZK D) SLZY

aNwimpesr 20 Qi _tbii 1984 gyeirmy eupbgmed, GlaLi b, 20° 1992 syetny 61b5 el
QsG> 2
A) @pmuiny B) Smiser C) Qsaicumi D) yser

X, Y wpnib Z @eveuser FCasnsfser W ereiiig V ullesr #Gsnggest wopmitb V g6
Y et seir. X ereirigy W o 161 er6iiaummy Glsm_ijeni_wig 2
A) s@eir B) wisms C) #CGsns D) w@oser

9en) oL &@ Crrs& 30 M pL_psmrer. Letesni 9euer euevg LpLdb Hpbrd 40 m
BLbST6T. LBa@T(Rd auevgiypib F bl 55 M pLs&pmi. bewr(hb @)L &iymib
HbL) 25 M pL_SEpri. QmPwins euet @)L gL pib HHLbLI 25 M BLSGprer.
6Ths HenFuiled LoHMILD 61dFemaT LOL L iFafleh yeuer yabL Blevevuller 2m%ed
@SB prer 2

A) Qsr_ssL1 Lerafuied B) 65 m Guwpn@

C) 55 m Qs D) 65 m s

12 wenflGpr s19a51I5P 68 Sevmentmiguiley L9gHuedliiy 1:45 @b HrL’1gearmed, a6
GpoLb erestasTounss @)(hdh@HLb 2
A) 9:10 B) 10:15 C) 10:45 D) 9:45

SH6VITeD Flempuileh 2 eirar LiereuhLd S smisafleh yrismi @)erevolLIGL iger wmr ?
l. sevmed @)esravGlLidL it

Il. 2569 sevred Q)etravGlLIdL it

. sevred FiGer @)esrav6lLidL it

IV. s®Ly P smiser

A) | o b B) | wopmyib Il o B1ib

C) I, Il opmyeb NI D) GuGev 2 éiter oyemesidgiLb

SUDTGT IMsensenisd Csin0)sHEHa Lb.

A) smed @atavblLsL it eTesiLgy s L gGer Lifey 40 wpsed 53 cuempuflevmer

SL_ewisemard OFuiw Huhssrinl L oS

B) sevreb Gretigd 9aiauevsssev o G 9yLismf GppBiseer LFey OFuiw (LpLgujib

C) sewmed @eirev6lLigL i gmibesfley gmLbest cuLpmiseuTLb
D) owm <yListh gppsas allFmiss smed Q)erav0lLdL (hd@ HBSMILD 2 6iTers)
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63.

64.

65.

66.

67.

68.

Name the Section that authorize Abkari Inspector may summon persons suspected
of offences against Abkari laws.

A) Section 44 B) Section 46 C) Section 47 D) Section 48

Pick out the incorrect statement in respect of arrest and seizure under the Abkari Act.
A) Person arrested shall be informed of grounds of arrest
B) In bailable offence, arrestee shall be informed of entitlement for balil

C) Person arrested shall be produced before the Abkari Inspector without unnecessary
delay

D) Name and address of arrestees to be displayed in Excise office

State which is an incorrect statement on permits of transport as per Abkari Act ?

A) Permits for the transport of liquor may be issued by the Commissioner or by any
person duly empowered in that behalf

B) Every permit shall specify the name of the person authorised to transport liquor
C) Every permit shall specify the period for which the permit is to be in force
D) Permits shall issued only to reputed firms alone

Which Section in the Abkari Act empowers an Excise Inspector may arrest offenders
without warrant in any public thorough fare or open place other than a dwelling house
without preparing a search memo ?

A) Section 30 B) Section 32 C) Section 34 D) Section 36

State the authorities empowered to issue a search warrant on application by an
Excise Inspector as per the Kerala Abkari Act.

A) Excise Commissioner and Judicial Magistrate

B) Deputy Excise Commissioner and Assistant Excise Commissioner
C) Joint Excise Commissioner and Additional Excise Commissioner
D) None of the above

Choose the correct one among the following.

A) Under the Abkari Act, all Officers of and above the rank of preventive officers are
Abkari Inspectors

B) Preventive Officers in Excise Department can register Abkari cases

C) All Abkari Officers in Excise Department can investigate Abkari cases

D) Underthe Abkari Act, all Officers of and above the rank of Assistant Excise Inspectors
are Abkari Inspectors
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63. oLisnh FLU L BISEp%ES THuTeT GDorEIFHaiey FhOCHHILIGLD BLUTEET QT QUHLPSHS

S Lismi @erev0LsGL (5% BGHTID defd@d LtAMaler ClLwenrsd @GP _ayb
A) 9y 44 B) 19fey 46 C) 19fey 47 D) (9fay 48

64. ylisnf FL1_$F6 L waHg) oPMILD LP(LPSeL OIS TL_TLITE SeUDTET Pl%endeniLid

a1 0% (hdHeum 2

A) a5 Ol L pLT &g CFIWILILIL L FH&mes &PmISET GBS O\FMallssi
Gaustr @b

B) gmibeir GQupdamigw @GpnESHe, ensg CFwliC L auihdh@ @mbest O\LmeusHsHTeT
2 Moo Mg OsMaldsLiLbLb

C) wag Geduiiuc L pui Ceeeauwpn mogLdleis) < lism @)erevolLdL i (Lpes
R N OEEININIOLY L

D) ensgneeuisaies Gliwii opmith (Lpseul SMed YRIIVSSHGV ST L LILIL
Goueti(®)ib.

65. usml s sPerLig Cund@augds eI GHSS SaUDTeT IYmbend 615 2

A) wgiunerd Csresst(h O)FOUSDEHTT eHILDBHGT YeHERTITTCY GULPBEIHLILIL GUTLD
DIGVGVE| ST FITTLINE (LpeDWTS YFSTuLd Qmm 61hS 66 BHLITTEILD
QULPMBISLILIL_GUTLD.

B) @aiGleunm oyein@uiaib wgiuimetb Glasmess(®) Glacher mIBSMNESLILIL L LM
Quwengs @M Ceouer(bhLb

C) @aiGleuns YeILPLILISBILPLD 6THF FTWHL L LD UenT HYeILDF) YLoOle) Q)5
Gouess(pILd eTedTLIonSS GDILILIL Couetr(hLb.

D) wm8smyib Qupp Blmieuetsisensdd ' (G eoS) aupBIsLiLI(BLb

66. wlismh FL G0 2 erer e1hsLl LNMey, 6ihs @y OLTaOeuailuied evevg Swbs

67.

68.

OeualluGevr CsRB @GMILICLIG SwWridsmoe, 6Ths @b 6lLTgGlaaluleh 9cbevg)
Sops GeuallulCGevr @ppeutaflsemars mag CFw @@ HewTed @)eTavOLIGL T
S sMILD YeEH DG 2

A) 9fey 30 B) 9fay 32 C) ey 34 D) 9Mey 36
Cager gyLismi 'L gHerLig semed @)erav6ludL it allesrentLiLgG e Lig) C%(H)F
g eentenw Geuaflui 9yFsrub 2 erer HFHEThSdaTsS GBIy ?

A) semed yemewtit LoPpmitb FHSsIem Lorglev S G

B) siemewst gy emewniwii opmith 2 $a9 Hevred 3y enERTIIT

C) &L Svmred genewnii LHMILD Fn(BB6) HEUTC) Y, eHERTIIT

D) GuGe e1geyib @evenev

Lesraumeuaraupmled Filwmesienss Csiih0l%BSSHa Lb.

A) oisrh F L gGer &1p, SOOI YBsmisefer sgeufeanFulleh o erer yeneTss
B TiS@HLD YLISMH Q)etTerv O LIGL TH6T peuTiT

B) sered gyewpuded sGILIL) B SThS6T LMl eupd@Gsemar LG ey OFuiwievmd

C) swmed grapuileh 2 6irar eaTdsl YLISTH YPHTMEEGHLD YLISTH 6uULpdSGHH®aT
afFmigHemLD

D) wlismd gL $Ger &1p, 2 a9 Sevred Qerav6ludL it Lgalls@ GLoeh 2 6iTer SeesSS5)
B sTSEHLD YLISTH Q)etrerOLIdL it
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69.

70.

71.

72.

73.

74.

75.

76.

State the maximum wastage allowed under the Distillery and Warehouse Rules
for the import of spirits to a distillery for storing in Form IV A Bonded warehouse in
tanker lorries.

A) 1% B) 0.25% C) 0.5% D) 1.5%

Pipes in the distilleries used for the conveyance of different materials are painted with
different colours for identification. For the conveyance of wash, which colour of paint
is used ?

A) Blue B) Yellow C) Green D) Red

What is the meaning of the word “Feints” under Kerala Distillery and Warehouse
Rules ?

A) Impure spirit produced from the distillation of wash
B) The apparatus used for distillation

C) Wash back in the distillery

D) None of the above

What is the quarterly stock taking wastage on all finished products in stock in a
winery ?

A) Not exceeding 1% B) Not exceeding 2%

C) Not exceeding 3% D) Not exceeding 4%

Who among the following is empowered to conduct inspection at toddy shops under
Section 32 of the Kerala Abkari Act ?

A) Tahsildar B) Civil Excise Officer
C) Women Civil Excise Officer D) None of these

Under which Sections of Abkari Act, the Abkari Officers to have similar powers of
Police Officers for the purpose of investigation of offences ?

A) 30A B) 55A C) 53A D) 34A

According to Section 40(3) of the Abkari Act when seizure is made under
Section 31 or 34 of the Abkari Act, the properties should be produced before

A) The Court of Law B) The Excise Commissioner
C) The Abkari Inspector D) None of these

Who has the power to issue search warrant in Excise Department under the Abkari
Act ?

A) The Excise Commissioner

B) The Joint Excise Commissioner

C) The Deputy Excise Commissioner
D) The Assistant Excise Commissioner
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70.

71.

72.

73.

74.

75.

76.
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CLmisir ewmflsafled Ligeud IV A ewerdsiiuc L SLmGev CFOILSHHTS 63(h
19 o1 VeV @ avLIfL Sewar @Qme@HLS ClFInFHHTET 1 6vLgevevif LoPMILD HL_EiE,
a@gaefler GLp 9ewoFSHLILIED YFsLL F lgudensd @GP _ajb 2
A) 1% B) 0.25% C) 0.5% D) 1.5%

QeueiCauny ClumBL seaerd Clame(h) ClFveusHD@GHLI LIWGTLIBHSSLILIBILD 1§61 VevEaileh
2 GTGT (GLPTUISET, FVMaIdEG TBhSHF OlFebev, YL WTarsEesssTs 6laue Galmy
QUGHTGRTEISATTCY QUEDTWILILIL LG (5% @LD. 6ThS UGTERTLILFS LIWGTLRHSSLILGS DS ?

A) Bevib B) io@pFer C) useds D) @euiy

Gager 1gevigevev wpmib Gk aNPsafler Gp “Feints” eretip eumidensguilesr
9YTHSBLD GTGTGST ?

A) aygsed epevtd 2 PLISH) CFuwLILIBD Friieowpp el

B) auyg sl eyl LweaTL®SSLILIRLD SHadl

C) wgevigevevfuied LEGRT(RILD &(LpaIa LD

D) GuwlGev e1gayib @)sevemev

uilelt g emevuiled emaulHLILIG) 2 6iTar (LpLg &SI L QLmBL Sefl6sT L% Hmevmess(h)
LIBIG 6TeleUaTe] aienTTE DG 2

A) 1% 3@ Ged @evemev B) 2% 4@ Wsmwed

C) 3% 4@ smoe D) 4% @ a9 9@HL01% @)cvemev

Gagar yLismh #°1_gGer 19Mey 32 651 GLp, BLbSHETL_auishafleh WT[(h% @ H6T HenL_uleh
QUIe FL_[bF YFSTILD 2 6TeTSH ?

A) s1@ev st B) @ailev sevmed B

C) Guessr Fadleh sevrcd G s D) Qeupmlev ergyibleveney

< Lismiudest e1b5L1 Lfeysefest b, GpwEiIsear alFmild@Lb GCrrssdsHHans L%
B s1lS %G sTeucvginD G sThsailer oG5 G sTIBISET ()(HSF DS
A) 30A B) 55A C) 53A D) 34A

s #1_g&Her 9fley 40(3) @eir Lig, yrismf 1P L9feay 31 yebevs)
34 @it Brp uPlpsed CFtiwiL®d Cung), LPpsed OFuiulil L C\Fm1dg)%%er
Q@aumd@ (et LBay ClFwiwriii . Geuesst(hLb

A) B&eipLb B) semed gy ememrit

C) wLismh @esravblLidL it D) @eeu e1gia b @)evency

QL F1L_ GG GLp sevred glempulley CaBsev aumgel LIpLildhe wrms @
9B SMILD 2 6TeTg 2

A) sevred gy emewTii B) semed aufl @)enewt g enewrsi

C) syement sevmed gy eewTiLi D) 2. sal sevred gy emewrwii
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77. What is the chemical formula of ethyl alcohol ?
A) CHSOH B) CszoH

C) CHSCOOH D) None of the above

78. When did “Vimukthi Mission” awareness against alcoholism and drug abuse come
into force in Kerala ?

A) 2015 B) 2016 C) 2017 D) 2018

79. Match List — | with List — Il
List -1 List -1l
a. Ransomware I. A software that collects information about a person or

organization such as their internet activities, their personal
data, password etc.

b. Spyware Il. A software that gains continued access to a computer by
attacking the root or administrator access and exploits the
computer resources and other data stored in it.

c. Trojan Horse lll. A form of malware that prevents access of the computer by
the owner and demands a ransom for its removal.

d. Root Kit IV. A form of malware that appears to perform an authorized
function, but in fact performs unauthorised functions such as
data theft and system harm.

A)a-IV,b-Il,c—-I,d-1l

B) a-Il,b—-1,c—1V,d-lll

C)a-ll,b-lLc—IV,d-1

D) a—-Illbb-1V,c—1,d-1l

80. Darwin is the network administrator of the Chennai Office of a Company. He is
annoyed about his low salary and in rage disables the passwords of the other
employees so they are unable to access the company servers. Identify the liability
of Darwin.

A) Unauthorised Access

B) Denial of Access

C) Computer Source Code Theft
D) Disrupting Computer Network
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77. 613360 YvsanTashsrer CouGuiiich FHSS b eTcsier ?
A) CH OH B) C,HOH

C) CHSCOOH D) GuwGe ergiayb @)cvensv

78. wglipssd wHmb CurenSLiCLImmeT LWETLTRS 5@ TG amer alfILiLjenTiey
“allps eyer Cagarmalley e11CLITG aubSSH 2
A) 2015 B) 2016 C) 2017 D) 2018

79. uluwed — 1@ urguwe — Il o CumpssaLb.
L guied = | i guiey = |l

a. gnesrGamdGourr l. e pui gebevg) BlneuaisFer Qenent ClFwehLIT(h&6T,
Qauigsalet sefllliul L 16y, sL_ayd6lFmey Gumesin
SFaUOGerdF Caifd@Ld OLocsTo)LImBeT

b. evenrLiGaurr Il. ep ebevg) Bliauns) 9emisaevd HMskh@&HaIbe6T eLPeLD
sesliestssnes C\FmL_iFFuwimes yemisemevrs GLmib
Oocrlmper, Cogth Fev CHAGSLILIL (HeiTer &essicsf)
QUGTEIGGT LoPMILD LD STYSH®ATLI LIWLGTL(HSSHIF DS

C. L Gurggetr anmiav ll. orebCeuflest epeutgautb, o Mewiowmargmed Hewflesileniws
AT GUDSS $HSFDGI, Cogid CH1BEDS.
d. ep” & V. mebGeuflesr gpp euigaud, ymGsMdbsiiu L ClFwed

unl e & CFuicusnsd CHrcimFnsl, 46sTe)
2 aemLoulled srey DB (B LoHmiLb Hewflest) S CLimep
9BIGSHMesLILIL 1% CFwebLiThsemar OFIF DS
A)a-IV,b-Il,c—=1,d-1l
B) a=-I,b—-I,c—IV,d-1l
C)a-Ill,b=lc=1IV,d-1ll
D) a-IlllLb—-1IV,c—I,d-Il

80. Lmiader g BmieueasFesr Glacienat 9aaIvEsP et CbL Cleumid Blieun®). e
SHG GHOPDHS FbLTSSL LHY erFFeven psmi, G H5PI5He0 LoHD
sar fluiisefeit Sy CFTOM (LPL_SGHB DT, YSGTT) HYTHETTCD [5)D)61csS S 65T
Cramauwsnisamer ems (Lplywallevene. L miadefler GlLmmilienls 9jenL wmerb

BHTGHTRLD
A) oBIGsNGSLILIL 15 9enIDD) B) <iemysed omyiy
C) sewfled] epev @PIui® S (3 D) sewflesl) Qb Cleunidgens Fi@enevdsed
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Sheeja and Ravi are very good friends, (Complete the sentence with proper
question tag)
A) Are they ? B) Aren'tthey ?  C) Aren’t their ? D) Aren’tthem ?

My friend is fortunate
preposition)
A) Over B) By C) With D) In

winning a lottery worth one crore rupees. (Insert suitable

If we had followed the instructions of the Health Department, increasing Covid cases
well. (Complete the Clause suitably)

A) would have decrease B) would have decreased

C) would have been decreased D) would have be decreased
Rahoof had worked for one year in Bangalore before he here.

A) Came B) Comes C) Coming D) Had come

In which part of the sentence is the mistake ?
A) would have looked like me B) where we’ve applying
C) | was mistaken D) I'll let you see a proof of it

Which of the following words is wrongly spelt ?
A) Brutal B) Sulphide
C) Interrepted D) Process

Select the correctly spelt word.
A) Neverthless B) Nevardhless
C) Nevartheless D) Nevertheless

Choose the word which best expresses the meaning of the word ‘Terrible’.
A) Raging B) Dreadful C) Incursive D) Dangling

One who deals in clothes and cloth goods
A) Florist B) Satchel C) Draper D) Wardrobe

The idiom ‘Pull yourself together means
A) To secure B) To attack
C) To push something D) To calm down
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91. ‘Sal)’ eretip OlFmevedlesr QLT 6T H(1H%

A) &Fewg B) a1 C) wmemewr D) wemev
92. silwner QFnpsemers Csin0lsBHSs BILiLs.

‘owbws __ Casein Hisssl.

A) a1 B) Gumrew Gurew C) sFevgev D) sewsa

98. ghwner Cgm_Meners Csiay CFdis.

A) Upoasdr IES S0 SL s,

B) upeeuser wgmsaiey g @ SL 19 W

C) upauE6T LOIBIFZEND Fn(h) HL 19T

D) Lipanas w5Hed () 5t
94. “Passport” eretip gy mGlevs ClFmevbeyid@ Blsumer SLOpFCIFT6d 618 2

A) sL6058 (B B) meype Qasa;

C) upm siemr D) vwems&l B
95. ‘@whwesr’ eratLIgD@& AW gds OlFnpasemeng Csxiay OFuis.

A) 9Fevib, euafl  B) wf@), epmullyy C) 9yped, srped D) smews, 2 B
96. ‘Qappg’ e1ep ClFTeLESET GIHILILISLD 6T(LHSIS.

A) w&ipisI B) wisipigi C) gowpisi D) usipbsi
97. &upaumeussteunmled Filwmest LipOImYS) euLgauLb 6150 D bSHI Fnmis.

A) shenswnesTID $F5HE S (b B) spewgwreriayb oL &% s 5

C) sposuremgih @sszis 5@ D) sposuremaih s wis8s 50
98. “o dgray” eratip OFrebeys@ @ eentwrest ClFTeSlemeTr 61(hS0)H(LpSI%.

A) 2 Meoip B) wyeoingai C) <yement D) @@ s
99. &paumLd ClFpEailch Yoomlenentd@ i ClFTed 615 2

A) @pLoad B) wummi& C) Qaepal D) afpnmisenes

100. 1930C8wps515 : “@miEmy B’
A) @riGn + I B) ehs + @my + mim
C) @253 + Gniedw + B D) epibLigi + @mi + mimi
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Space for Rough Work
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Space for Rough Work
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821061 )M& A
@RBHUDBBHOU

prwwoe) @ibir Cocrod

82103)6188)6S @RS ag)empo : 100

alomouWw]l modHsy = 100

mawo : 90 almlg’

983 )00IdmdlB:RBe0 188 M1dEGUeBMD

. 3210BY HSLIOQ N@HYME 2108y alyes agalowiensm. A, B, C, D agonfl moel @oemo eeowymlenes

32103 alyYBETBEO6M M@HLME.

2. 62108y a )BT DYBslad ESE QLN [IEB 8> CB:08MBIM G2I0B 0 |IMRE> @REHD B0 @l aflsiens.

10.

11.

12.

13.

14.

§0600 HBBHWODMAlHeJ0 MMHIWISIBR 2106 03P BOBHO EHIW BOAIOIOS al@lEud a0dgleel edlal
SO GoeI6Q|S OGO

. Mlem@BenH MG 2IBlon M @OHHO BHOWIM MIMio QAIYMIRAOQ GHOAUIRILER 62103 alJTYEM06M

eIEleemMe®Eslcd @o® ©sms] enadalledlerigoies ¢yELYITINR|SICEMENS®OEN).

321060 1}(Nd: (HAMMIB alj0o 2ISWIOS QILIGIAIED NiBSQODOQS GaIBEISLENE. (@AMMID EDRIOED
62106 §014TYEM06M M6N3WHE) RIEIEOLME®BSIT BOED BOLHUD GHOUSILIYSE 62106 jaliNd0 MOF] AUOEIBYE:.

62106Y allqydo Qleimy modZIMI@ aaLYEONEDOR] Ml 6.21Qfldlenie. HEMOOALIMIMISS BOMYA
2IE12J0RIRI06®m 62103y allydho MIOHHIM aldsipl.

. al@lext mysendlworlysad eaywodmd miles eI adeniam ea106y aliyeomid 100 ealosymealo (B-0m0wl

9B86N30 o)y al@lGUOWIBHHB®OEN. 32I0BY all(RB-OTIT @0.SIBOHOMDE®O, B&5IGIEMI, ANSIBAIdWE®I
BOW BalR)dh0d HENSORIQ); BOLONID HEENSESIM @OLH0 Y0 SHMANLEIERIGOIOS YBHRLEIT HE06NSINICl W0
@OE® EOMHUO GHOUIRLAR o RBENAOW E210BY aly(Rdho BOF] QUOEIBIG®I0 6).218YENZIEM. D® a0
(IWOMEQ|S®mIE.

. 607 @a19a8)ealg|dleal 1 aym@ 80 cuenw 88 €2106)BM soglatlalje mal¥lamowl @ra)dlafidlenimm;. eno

@210B)6IB8)6)S @RAMA0, BdLEM ag)(MTIaL MosnIMU] 2] ModWEBWRSS Eoflad mow ya®ileles 62106 JEBEI6M'
@RWOODIBHNMN@.

62106 al}(RHHOTOR @OOITVOM GalgflNy H®OZYMIMal BOMNIo af)PIBOMD O6NE Galgg)d(d GoldmBISIeNE.
ED® OO0 HeN83afISlEIMEIMIBR ©ClalidRdEnO® Hale@OUSlEenIM®IET.

OOMAEBR BOEUNE|SIOMIND @RWVoElLHIM@IM’ aJmi’ 9EMALHSLIOMIOR B0l }0omIes WIACZUEBWD
©BRLIAIBOY 0 AU H6 6.

0AEmoo §BeROS 808a0 saloaymmlmo (A), (B), (C), (D) agm moel pemasmsd mmidleeo. xodl
QYOO HBOEETTTNSIOTH 63. ag)o. BBD. HETHOSOHSLIOMIE cNIMLERS G2 106y MMUGIT EMOHOWIRE DA IEMOC
agofloflenyam @xalg (eruenliid) mo@o MIRIBRIO d048a]0 6rIOM Galo@I Galm 9ale@OUsl e @0l fleee:.

£0600 AW EMEETIM o B0} MODEE RIEl 86 )W o 8080 H®RIEMAEDTIMIe 1/3 Modes Mayadnlje:w o
6.21Q)}0. HOMOO BOEUAQS}AMOMM G206 EIBUWBE AL May@OB@Sg).

@110 e G:¥lamaiay myemIo, semeensamsmaleeainann aq@a lonoemewd 6oy oeauodmalwe
al@lB:00000 QS allO@mYBAIOB:M aldslg).

MBCZEIBR H:BMAQS aloelEenaBmIe. aldlAtW]a (HACHNS MSOMIHEWI @GIMISS Cymo
MSOMYHEWI 6.219130M 9BBINIAdMAlH68 BOEWON W (aleuidallenimmmosn.
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